£6€'68Y'988°1 (V1 1'VG9'8YS LOYV'EV1'SEY'T |999'88 194'G98'GE  |2LE'99€'66E'C i 8B
0 0 0 0 0 0 = OH
0 0 0 0 0 0 W*E_@%E%M
0 0 0 0 0 0 HMYNER |2 E
000'000'0¢ |0 000'000'0¢ |0 000'000'0¢ |0 £
0 0 0 0 0 0 HEXHFIG0FEIWE| =
0 0 0 0 0 0 MG SEYRECHE| T
0 0 0 0 0 0 NN ISBYRECE| o
000'000'0¢ |0 000'000'0¢ |0 000'000'0¢ |0 THAHTI524%)
£GE'68Y'968°L |V 11'¥S59'8+S LOY'EY1'S0Y'T |999'88 19£'698'S 2L£'99€'66€'C it
0 0 0 0 0 ZIEAEEE
0 0 0 0 0 0 I = H
09.'020'9¢ |0 09.°'020'9¢ |0 eV 1¥S 62€'6LY'GE = E W
662'67v'9¢  |80V'ThY'OF L0L'168°28  |999'88 0£e'vTe'S €¥0'969°LL S \H
0 0 0 0 0 0 k35 8 M
¥62°9GL°€6G°1 [90L'112°205 000'896'G60°Z |0 0 000'896'G60'Z w E
000'€92'061 000'€92'061 (0 0 000'€92061 W F
= S| BELEORIFEIEE | SXXH | BOEHET | BUSKE | 2XHEH B &
(K 7)
DRHICHeLSIHE
NCHIHY VS

($IEEFCE) EHEVE




